8.6 Solve Rational Equations

EXAMPLE 1 Solve a rational equation by cross multiplying

Solve:
$$\frac{3}{x+1} \underbrace{\begin{array}{c} 9 \\ 4x+5 \end{array}}$$

$$\frac{(4x+5)}{(4x+5)(x+1)} = \frac{9}{(4x+5)(x+1)}$$

$$3(4x+5) = 9(x+1)$$

$$|2x+1S = 9x+9$$

 $-9x$
 $-9x$
 $-9x$
 $-1S - 1S$

EXAMPLE 1 Solve a rational equation by cross multiplying

Solve the equation by cross multiplying. Check your solution(s).

$$\frac{-4}{x+3} = \frac{5}{x-3}$$

$$-\frac{4}{x+3} = \frac{5}{x+1}$$

$$-\frac{4}{x+1} = \frac{5}{x$$

EXAMPLE 1 Solve a rational equation by cross multiplying

Solve the equation by cross multiplying. Check your solution(s).

$$\frac{1}{2x+5} = \frac{x}{11x+8}$$

$$1(11x+8) = x(2x+5)$$

$$1(11x+8) = x(2x+5)$$

$$1(11x+8) = x(2x+5)$$

$$-11x-8$$

$$0 = 2x^2 - 6x-8$$

$$0 = 2(x^2 - 3x - 4)$$

$$0 = x^2 - 3x - 4$$

$$(x-4)(x+1)$$

$$x=4$$

$$x=4$$

EXAMPLE 4 Solve a rational equation with two solutions

What is the solution of $\frac{5}{x} + \frac{7}{4} = -\frac{9}{x}$?

$$\frac{4.5}{4.x} + \frac{7.x}{4.x} = -\frac{9}{4x}$$

$$\frac{20 + 7x}{4x} = -\frac{9}{4x}$$

$$\frac{2$$

EXAMPLE 4 Solve a rational equation with two solutions

Solve:
$$1 - \frac{8}{x-5} = \frac{3}{x}$$

$$\frac{(x-5)!}{(x-5)!} - \frac{8}{x-5} = \frac{3}{x}$$

$$\frac{(x-5)!}{(x-5)!} - \frac{8}{x-5} = \frac{3}{x}$$

$$\frac{(x-5)!}{(x-5)!} - \frac{3}{x-5} = \frac{3}{x}$$

$$\frac{(x-15)(x-1)=0}{(x-15)(x-1)=0}$$

Solve:
$$\frac{6}{x-3} = \frac{8x^2}{x^2-9} - \frac{4x}{x+3}$$

$$\frac{(x+3)(x-3)}{(x+3)(x-3)} = \frac{8x^2}{(x-3)(x+3)} - \frac{4x}{(x+3)(x-3)}$$

$$\frac{(x+3)(x-3)}{(x+3)(x-3)} = \frac{8x^2}{(x-3)(x+3)} - \frac{4x}{(x+3)(x-3)}$$

$$\frac{(x+3)(x-3)}{(x+3)(x-3)} = \frac{8x^2}{(x-3)(x+3)} - \frac{4x}{(x+3)(x-3)}$$

$$\frac{(x+3)(x-3)}{(x+3)(x-3)} = \frac{8x^2}{(x+3)(x-3)} - \frac{4x}{(x+3)(x-3)}$$

$$\frac{(x+3)(x-3)}{(x+3)(x-3)} = \frac{8x^2}{(x+3)(x-3)}$$

$$\frac{(x+3)(x-3)}{(x+3)(x-3)} = \frac{8x^2}{(x+3)(x-3)}$$

$$\frac{(x+3)(x-3)}{(x+3)(x-3)} = \frac{8x^2}{(x+3)(x-3)}$$

$$\frac{(x+3)(x-3)}{(x+3)(x-3)} = \frac{2x^2}{(x+3)(x+3)}$$

$$\frac{(x+3)(x-3)(x+3)}{(x+3)(x-3)} = \frac{2x^2}{(x+3)(x+3)}$$

$$\frac{(x+3)(x-3)(x+3)}{(x+3)(x-3)} = \frac{2x^2}{(x+3)(x+3)}$$

$$\frac{(x+3)(x-3)(x+3)}{(x+3)(x+3)} = \frac{2x^2}{(x+3)(x+3)}$$

$$\frac{(x+3)(x+3)(x+3)}{(x+3)(x+3)} = \frac{2x^2}{(x+3)(x+3)}$$

$$\frac{(x+3)(x+3)(x+3)}{(x+3)(x+3)} = \frac{2x^2}{(x+3)(x+3)}$$

$$\frac{(x+3)(x+3)(x+3)}{(x+3)(x+3)} = \frac{2x^2}{(x+3)(x+3)}$$

$$\frac{(x+3)(x+3)(x+3)}{(x+3)(x+3)} = \frac{2x^2}{(x+3)(x+3)}$$

$$\frac{(x+3)(x+3)(x+3)(x+3)}{(x+3)(x+3)} = \frac{2x^2}{(x+3)(x+3)}$$

$$\frac{(x+3)(x+3)(x+3)(x+3)}{(x+3)(x+3)(x+3)} = \frac{2x^2}{(x+3)(x+3)}$$

$$\frac{(x+3)(x+3)(x+3)(x+3)}{(x+3)(x+3)(x+3)} = \frac{2x^2}{(x+3)(x+3)}$$

$$\frac{(x+3)(x+3)(x+3)(x+3)}{(x+3)(x+3)(x+3)}$$

$$\frac{(x+3)(x+3)(x+3)(x+3)(x+3)}{(x+3)(x+3)(x+3)}$$

$$\frac{(x+3)(x+3)(x+3)(x+3)(x+3)}{(x+3)(x+3)(x+3)}$$

$$\frac{(x+3)(x+3$$